Western Kentucky University

TopSCHOLAR®

WKU Archives Records

WKU Archives

1-1932

UA3/1/1 Report in Response to House Resolution No. 5

WKU President's Office - Cherry

Follow this and additional works at: https://digitalcommons.wku.edu/dlsc_ua_records

Part of the African American Studies Commons, Benefits and Compensation Commons, Higher Education Administration Commons, Leadership Studies Commons, and the Race and Ethnicity Commons

This Report is brought to you for free and open access by TopSCHOLAR®. It has been accepted for inclusion in WKU Archives Records by an authorized administrator of TopSCHOLAR®. For more information, please contact topscholar@wku.edu.

To:

Hon. John Young Brown,

Speaker of House of Representatives

Frankfort, Ky.

In response to House Resolution No. 5.

WESTERN KENTUCKY STATE TEACHERS COLLEGE BOWLING GREEN, KENTUCKY

TO THE MEMBERS OF THE GENERAL ASSEMBLY OF KENTUCKY:

GENTLEMEN:

I am submitting on the following pages the names and addresses of the employees of the Western Kentucky State Teachers College, the duties they perform, salaries received and other information requested by you.

I am also including some general information that may be of interest.

Most respectfully,

President

WES TERN KENTUCKY STATE TEACHERS

COLLEGE

BOWLING GREEN, KENTUCKY

TO THE MEMBERS OF THE GENERAL ASSEMBLY OF KENTUCKY:

Gentlemen:

In compliance with your request and by the authority of the Board of Regents of this institution I am most respectfully submitting the following:

SALARY SCHEDULE FOR THE YEAR 1931

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO MOS.	TOTAL	REMARKS
	No. of the last of			9	
J. R. Alexander, A. B. Nashville Pike	Teacher of Mathematics	300.00	12	3600.00	
Eldon M. Aldred, M. A.					
Sumpter Avenue	Teacher of Chemistry	208.33	12	2500.00	
Marie Adams, M. A.			+		
College Heights	Teacher of Home Economics	191.66	12	2300.00	
Frances Anderson, M. A.					
1405 State Street	Teacher of History	175.00	12	2100.00	
Louise Asher, A. B.					
1328 College Street	Teacher of Library Science (Part-time)	60.00	24	0.000	Summer Terms
		115.00	4	460.00	Sept. to Jan.
Chas. E. Allen, M. A.			- 2		
College Heights	Teacher of History	200.00	12	300.00	Sec. Sum. Term
M. L. Billings, Ph.D.			44.2		
1039 Broadway	Head, Dept. of Psychology	316.66	12	3800.00	
A. C. Burton, M. A.					
Normal Blvd.	Rural Education	283.33	12	3400.00	
Hayward Brown, M. S.					
Normal Blvd.	Teacher of Agriculture in Tr. Sch.	233.33	12	2800.00	
C. B. Barnes, M. A.					
1347 Indianola	Teacher of Industrial Arts	166.66	8	1333.28	
		180.00	4	720.00	
Mrs. O. G. Byrn,			Mark III	200	
535 E. Main St.	Sec. to Director of Training School	100.00	8	800.00	
		110.00	4	440.00	
Mrs. Ora Brand,					
1370 Center	Stenographer	91.66	12	1100.00	

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS
Edna Bothe, A. M. 324-15th Street	Teacher of Library Science	166.66	8	1333.28	
		175.00	4	700.00	
Virginia Bland, A. B. 1370 High Street	Library Assistant	95.00 100.00	8	760.00 400.00	
Mrs. W. S. Bennett, A.B.					
College Heights Golda Bollus, M. A.	Rural School Assistant	100.00	1½	150.00	1st. Sum. Term
College Heights Virginia Bickley, M. A.	Teacher of French	150.00	4월	675.00	Feb. to June
College Heights Aileen Bromley, M. A.	Teacher of Library Science	166.65	3	500.00	2 Sum. Terms
College Heights	Teacher of Geography	150.00 166.64	2년 1년	337.50 250.00	Apr. to June 1st. Sum. Term
Frances Broene, M. A. College Heights	Teacher of Geography & English	150.00	4월	675.00	Feb. to June
O. E. Baird, A. B. College Heights	Teacher of Geography - Tr. School	170.00	11/2	250.00	1st. Sum. Term
Elizabeth Breckinridge, M College Heights Jhhn C. Brown,	Teacher of Education	200.00	11/2	300.00	2nd. Sum. Term
1062 Laurel Avenue H. H. Cherry, LL. D.	Teacher of Agriculture (Part-time)	66.66	12	800.00	
College Heights	President	500.00	12	6000.00	
W. J. Craig, A. B. Nashville Pike	Student Counselor; Dir. of Extra Currice Activities; Placement Officer. Perform many duties ordinarily performed by Dean	266.66	12	3200.00	
	Men.				
Louise Christie, B. S. 1303 State Street	Teacher of Art in Training School	130.00	8 4	1040.00	
Bertha Clark, M. A. 652-14th Street	Sixth Grade Teacher - Training School	190.47	10½	2000.00	
Ethel Clark, A. B. Sumpter Avenue	Prin. of Rural Training School	247.61	102	2600.00	
G. G. Craig, B. S. 1310 Kentucky St.	Teacher of Penmanship (Part-time)	50.00 166.66	5 7	250.00 1166.62	
Marjorie Clagett, M. A. Nashville Pike	Teacher of French & German	183.33	12		1
Mrs. T. C. Cherry, B. O.		100.00	14	2200.00	
846-10th Street	Teacher of English	183.33	12	2200.00	

NAME AND ADDRESS	IU TIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS
E. H. Canon, M. A. 643-14th Street	Registrar	291.66	12	3500.00	
J. H. Clagett, A. B. Nashville Pike Jas. P. Cornett, M. A.	Teacher of English Literature	191.66	12	2300.00	
Normal Blvd.	Teacher of English	150.00	8	1200.00	
J. E. Coleman, M. A.			7.3	00000	
College Heights C. T. Canon, M. A.	Teacher of Education	200.00	12	300.00	lst. Sum. Term
College Heights D. T. Cooper, M. A.	Teacher of Education	200.00	12	300.00	M 18 18
W. C. Coleman, M. A.	H H H	200.00	11/2	300,00	
College Heights George Curry, Ph.D.	Teacher of Mathematics	175.00	30	656.25	Apr. to August
College Heights Miriam Compton, M. A.	Teacher of Latin	233.32	3	700.00	Both Sum. Terms
College Heights Jno. A. Coffin, M. A.	Teacher of History	150.00	21/4	337.50	Apr. to June
Owens Apartments	Teacher of History	244.44	3	733.32	Both Sum. Terms
Hugh S. Calkins, M. A. College Heights	Teacher of History and Education	175.00	4	700,00	Feb. to June
Mary I. Cole, M. A. 1530 State St.	Teacher of Elementary Education	250.00	4	1000.00	Sept. to Jan.
Charlotta Day, M. S. 1332 Chestrut St.	Head, Home Ecomomics Department	266.66	8	2133.28	Jan. to Sept.
E. A. Diddle, Normal Blvd.	Dir. of Athletics & Inst. in Phys. Edu.	283.33	12	3400.00	
Mrs. C. R. Denton, A.B. 15th Street	Library Assistant (Part-time)	40.00	31/2	140.00	Apr. to July
Lois Dickey, 633 State Street	Stenographer	75.00	8	600.00	
		80.00	4	320.00	
Kathryn Mae Duncan, 1232 Chestmut St.	Public School Music and Piano	77.91	6	467.50	Jan. to July
L. T. Dickenson, M. A. College Heights	Teacher of History	200.00	11/2	300.00	1st Sum. Term
C. A. Dennis, M. A. Normal Blvd.	Teacher of Biology	200.00	3	600.00	Both " "
Mary DeShazer, College Heights	Library Assistant	70.00	11/2	105,00	lst " "

NAME AND ADDRESS	DUTIES PERFORMED	MON THLY SALARY	NO. MOS. EMPLOYED	TOTAL SALARY	REMARKS
Mrs. Gus Davis, A. B. Cherryton Mrs. Thurman Dixon, A. B.	Teacher of French (Part-time)	50.00	3	150.00	Both Sum. Terms
425-12th Street Elizabeth Dabbs, M. A.	Teacher of History - Training School	115.00	4	460.00	Sept. ot Jan.
522-14th Street	Head, Physical Education for Girls	222.22	4	888.88	18 19 te
Mary Frances Eaton, M. A. 1340 College Street	Teacher of English in Training School	150.00 165.00	8 b	1200.00	
Jas. A. Elam, M. A. Indianola Street	Football Coach & Inst. in Phys. Edu. and Economics	283.33 291.66	8	2266.64 1166.64	
W. J. Edens, M. S. 1048 Elm Street	Teacher of Agricultural Education & Soc. Supt. of Buildings and in charge of	233.33	12	2800.00	
Mrs. Margaret Evans, Cherryton	Janitor Force	100,00	12	1200 000	
Ercell Egbert, M. A. College Heights	Teacher of History	171.53	7	1200.71	Feb. to August
Mrs. C. F. Englehardt, A. College Heights	Teacher of Home Economics in Tr. Sch.	130.00	4층	585.00	Feb. to June
Norman Edelman, M. A. College Heights	Teacher of English	150.00	21	337.50	Apr. to June
Florence V. Essery, Ph.D. College Heights Clara Ethel Elledge, M.A.	Teacher of Elementary Education	266.64	11/2	400.00	lst. Sum. Term
1530 State Street	Teacher of Public School Music	208.33	4	833.32	Sept. to Jan.
M. C. Ford, Ph.D. Nashville Pike	Head, Ogden Dept. of Science	333.33	12	4000,00	
Marguerite Forsting 123-8th Street	Stenographer to President	125.00	12	1500.00	
Guy Forman, M. A. 1227 High Street	Teacher of Physics	125.00 165.00	3 4	375.00 660.00	Both Sum. Terms Sept. to Jan.
Mrs. Glenn Fisher, A. B. College Heights Martha Fiegenbaum, M. A.	Teacher of Mistory, Nor. Div. Tr. Sch.	80,00	5 2	440.00	Jan. to July
College Heights Allie Fowler, M. A.	Teacher of English	150.00	41/2	675.00	Feb. to June
College Heights Robt. J. Francis, A. B.	Teacher of Art	150.00	ᅝ	225.00	lst. Sum. Term
1346 Chestrut St.	Freshman Coach & Inst. in Phys. Edu.	125.00	4	500.00	Sept. to Jan.
Louis Friedman, A. B. 410-15th Street	Orchestra & Instrumental Music, Tr. Sch.	150.00	4	600.00	и и и

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL SALARY	REMARKS:
F. C. Grise, Ph.D.					
Nashville Pike	Dean & Head Foreign Languages	400.00	12	4800.00	
J. Sullivan Gibson, Ph.M.		225 00	0	1000 00	Ion to Cont
1414 College Street	Teabher of Geography	225.00	8	1000.00	Jan. to Sept.
Hallie Gaines, M. A. 1220 State Street	Teacher of Latin & French - Tr. Sch.	180.95	7	1266.65	
Edith Gnann, B. S.	Teacher of pacing Liench - It. bone	700 fr ()		100000	
422-15th Street	Teacher of Physical Education - Tr. Sch.	125.00	6늄	812.50	Jan. to Aug.
Mrs. Sarah G. Garris, M.	A DESCRIPTION OF STREET STREET STREET STREET STREET		~		
College Heights	Teacher of Library Science	200.00	3	600.00	Both Sum. Terms
Constance Garrett, M. A.					
College Heights	Teacher of History	150.00	21	337.50	Apr. to June
Mary Pearl Gould, M. A.			-8		" " halv
1349 College Street	Teacher of Primary Education	150.00	33	562.50	" " July
Vere Graham, B. S.	mark and Amiralham	225 00	3	675.00	Both Summer Terms
Nu twood Avenue	Teacher of Agriculture	225.00	•	075.00	Boen Builder Terms
Helen Hunt, M. S. 1366 College Street	Teacher of Home Economics	266.66	9	2400.00	
Mrs. F. H. Hillyard, A. M		200500		,	
Normal Blvde	Third Grade Teacher - Training School	180.95	10분	1900.00	
Will B. Hill,			~		
Helm Hotel Annex	Director of Lyceum and Student Activities	200.00	12	2400.00	
Mrs. Gussie Havard,					
Cherryton	Assistant Bookkeeper	110.00	k 2	1320.00	
Susan Jane Howard, A. B.					
Nashville Pike	Teacher of Mathematics - Training School	183.33	12	2200.00	
Agnes Hampton, A. B.		05.00	10	1740 00	
Glen Lily Pike	Library Assistant	95.00	12	1140.00	
Cornelia Helmers, A. B.	Teacher of Second Grade - Training School	171-42	1	171.42	Jan. (Leave of Absence
Ada T. Higgins, M. A.	Terough of pecoun grade - Harnrie ponoor			-1.40.710	
College Heights	Teacher in Grades of Training School	166.64	11/2	250.00	1st. Sum. Term
Leslie Hewes, M. A.	200000		~		
College Heights	Teacher of Geography	200.00	3	600.00	Both "
T. O. Hall, M. A.					
College Heights	Teacher of English	200.00	녆	300.00	1st Sum. Term
Margie Helm, M. A.		222		such as lesson	
522 Main Street	Librarian	225.00	4	900.00	Sept. to Jan.
Lavinia Hunter, M. A.		100.00		707 00	11 11 11
1340 College Street	First Grade Teacher - Training School	180.95	4	723.80	S. In purchase of the second
Ella Hurd, M. M.	Manchey of Dublic Cabool Maria	166 66	1	666 64	11 11 11
State Street	Teacher of Public School Music " Mathematics - Nor. Div. Tr.Sch	166.66	4	666.64 644.44	11 11 11
Isabel Hancock, A. M. Meek's Apartment	Madigades - Nor. Dry. 11.200	0.10.10.11		044044	
Woor a what omand			The state of the s		2 2 2

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY	NO. MOS.	TOTAL	REMARKS
NAME AND ADDRESS	DO IIES TERFORMED	SALARY	EMPLOYED	SALARY	UTWIND
Tryphena Howard, M. A.					
1358 College St.	Teacher of Mathematics	150.00	4	600.00	Sept. to Jan.
Frances Hoover,	G4	75.00	10	200 00	
Proctor Court	Stenographer	75.00	12	900.00	
Lee Francis Jones, Ph.D. 14th & Park Sts.	Head, Education Department	325.00	12	3900.00	
Hugh F. Johnson, M. A.	near, bowerest popul among	020.00		0000800	
Owens Apartment	Teacher of Mathematics & Violin	233.33	12	2800.00	
Lowe G. Johnson, M. A.					
Proctor Court	Teacher of History	233.33	12	2800.00	
Ella Jeffries, B. S.					
1410 College St.	Teacher of Geography	183.33	12	2200.00	
L. P. Jones, M. A.		ALCO (1940)	200	and the second	
Sumpter Avenue	Teacher of Education	208.33	12	2500.00	
Thelma Jones, A. B.		700 00	-1	500.00	The same of the sa
West Hall	Teacher of English - Training School	120.00	62	780.00	Jan. to July
Mrs. Kittie Johnakin,	Teacher of French (Part-time)	27 FO	77	202 50	Tiele de Ase
College Heights	reacher of French (-art-time)	37.50	7	262.50	Feb. to Aug.
Mrs. Nina Jenkirs, Beech Bend Pike	Teacher of Pub. Sch. Music - Nor. Div.	15.00	12	180.00	(Part-time)
Frances Johnson, A. B.	Teacher of lane bouse wasto - note pave	10.00	3.60	100.00	(- at 6- crmo)
Sixth Street	Teacher of Sociology - Training School	100.00	4	400.00	Feb. to June
Milton B. Jenson, Ph. D.	200000000000000000000000000000000000000				
Foster Apartment	Teacher of Psychology & Secondary Edu.	275.00	4	1100.00	Sept. to Jan.
Alma Jowers					
Proctor Court	Stenographer	65.00	12	780.00	
Gladys Knott, A. B., M. A.				1	
1410 College St.	Teacher of Physical Education - Tr. Sch.	151.42	7	1,059.94	June to Jan.
C. A. Loudermilk, M. S.					
1242 Chestnut St.	Teacher of Agriculture	233.33	12	2800,00	
Mrs. Mary T. Leiper, A.B.	Tibunian dan Vantuslan Tibunan	100.00	10	1020 00	
Nashville Pike	Librarian for Kentucky Library	160.00	12	1920.00	
Dorothy Logan, M. A. 1366 College Street	Teacher of Physical Education	166.66	12	2000.00	
Mrs. Herman Lowe, M. A.	Teacher of Thysotat Education	100,00	de 60	2000.00	
Nashville Pike	Fourth Grade Teacher - Training School	150.00	51	825.00	June to Jan.
Ruby Lanier,	100.000		22		
1243 College Street	Stenographer	75.00	12	900.00	
Addie Lee, M. A.					
Nashville Pike	Teacher of Kindergarten - Tr. School	219.04	62	1423.76	Jan. to July
Mary C. Lafollette, B. S.					
423-13th Street	Teacher of Public School Music	150.00	8	1200.00	" Sept.
Mrs. Paul Logsdon, B. S.		A. (2007)	11 2000		
College Heights	Teacher of History and Economics (Normal)	100.00	24	225.00	Apr. to June

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS
Mary Lyne, M. A. College Heights	Teacher of English	183.32	11/2	275.00	1st Sum. Term
L. Y. Lancaster, Ph. D. 1111 Broadway W. L. Matthews, M. A.	Teacher of Biology	258.33	4	1033.32	Sept. to Jan.
410-15th Street Anna E. Majors, A. B.	Director - Training School	342.85	10½	3600.00	
643-14th Street Mrs. H. R. Matthews, M.A.	Teacher of Mathematics - Training School	135.00	5	675.00	Jan. to June
Sumpter Avenue C. P. McNally, Ph.D.	Teacher of English in Training School	200.00	10g	2100.00	
Ross McGehee, M. A.	Head - Chemistry Department	300.00	12	2000.00	
Earl A. Moore, Ph. D.	Teacher of Social Science - Tr. School Teacher of English	308.33	12	3700.00	
Normal Blvd. Mattie McLean, A. B. J. Whit Potter Hall	Secretary to President	208.33	12	2500.00	
Rex Myers, 322-17th Street	Bookkeeper	191.66	12	2300.00	
Roberta Moody, 1123 Chestmut Street	Secretary to Bursar	100.00	12	1200.00	
Ernest R. Miller, A. M. Sumpter Avenue	Director of Physical Education and Health and Instructor in Physical Education	283.33	5호	1558.31	June to Jan.
Minnie Martin, M. A. 1303 State Street Horace McMurtry, M. A.	Teacher of Art	200.00	12	2400.00	
Normal Blvd. Ruth Moore, M. A.	Teacher of Education	275.00	12	3300.00	
1358 College St. Mrs. Frances Moltenbury,	Teacher of French	183.33	12	2200.00	
Foster Apartment Nannie Majors, M. A.	Assistant Librarian	125.00	12	1500.00	
Polly McClure, A. B. 652-14th Street	Teacher of Mathematics - Nor. Div. Tr.Shi Teacher of History in Training School	150.00	6 <u>1</u>		Jan. to July
Marjorie Middleton, M. A. 643-14th Street		165.00	7	1155.00	n n Ang.
n. F. McChesney, A. B. Normal Blvd.	Teacher of Latin, Nor. Div., Tr. School	200.00	8	1600.00	
Clara Lou McGinley, A. B College Heights	Teacher of Public School Music	111.00	214	250.00	Apr. to June
Sara Middleton, M. A. Meeks Apartment	Teacher of English - Training School	180.00	4	720.00	Sept. to Jan.

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL * SALARY	REMARKS
Lucille Morris, 1109 State Street	Secretary to Registrar	85.00	12	1020.00	
Elvera A. Meiselwitz, M. 1352 Chestnut Street	A. Teacher of Home Economics	200.00	4	800,00	
Mary Neely, M. A. College Heights Chas. S. Nahm,	Teacher of History - Training School	160.00	102	1680.00	
618 E. Main Street Louise Owsley,	Treasurer	25.00	12	300.00	
1405 State Street Elliott Orr,	Teacher of Public School Music - Tr. Sch.	171.42	101	1800.00	
656-12th Street Mrs. Grace Overby	Violin Instructor & Director of Band	150.00	12	1800.00	
1167 Kentucky Street Martha Orendorf, A. B.	Stenographer	70.00	12	840.00	
1337 State Street Paul W. Overman, M. A.	Library Assistant	85.00	12	1020.00	
College Heights W. M. Pearce, B. S.	Teacher of Mathematics Director of Extension and Correspondence	160.00	6	960.00	Feb. to July
Glen Lily Pike Geo. V. Page, M. S.	Department and follow-up work,	291.66	12	3500.00	
Normal Blvd. Bessie Phillips	Head of Physics Department	250.00	12	3000.00	
1227 Adams Street Janice Pace, A. B.	Secretary to Dean	100.00	12	1200.00	
1430 College Street Susie Pate, M. S.	Library Assistant	75.00	12	900.00	
1352 Chestnut Street Mildred Parkhurst, A.B.	Teacher of Home Economics - Training Sch.		6	1142.82	
College Heights Almedia Pearce, A. B.	Library Assistant	80.00	12	960.00	
1121 Magnolia St. Leslie Perkins, M. A.	Teacher of Penmanship	125.00	6월		Jan. to Aug.
College Heights Allen Puterbaugh, M. A.	Teacher of Mathematics - Nor. Div. Tr.Sch		1호		1st Sum. Term
College Heights Clara Perry, M. A.	Teacher of Mathematics - Training School	183.33	ᆁ	275.00	
College Heights A. P. Prather, M. A.	Teacher of English	150.00	21/4	337.50	Apr. to June
College Heights Virgil Payne, M. A.	Teacher of Education	200.00	ᆙ	300.00	1st Sum. Term
College Heights J. H. Poteet, Ph. D.	Teacher of Education	150.00	21/4	337.50	Apr. to June
1348 State Street	Teacher of History & Economics	250.00	4	1000.00	Sept. to Jan.

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY	No. Mos.	TOTAL	REMARKS
		SALARY	EMPLOYED	SALARY	
Gabrielle Robertson, A.M.				0000 00	1
1153 State Street	Teacher of History	241.66	12	2900.00	
Frances Richards, M. A.					
1340 College Street	Teacher of English	183.33	8	1466.64	
		200.00	4	800.00	
N. L. Ross, M. S.				0.00	
1346 High Street	Teacher of Science - Training School	188.57	5	942.85	
Nancy Reeder, M. A.			1	30 -0	
422-15th Street	Teacher of Second Grade - "	165.00	102	1732.50	
Charliene Roemer, M. A.					
1269 Kentucky Street	Teacher of Physical Education	125.00	5	625.00	
		150.00	4	600.00	
Etta Jane Runner,				382	
1350 Indianola Street	Stenographer	100.00	12	1200.00	
Ruth Rutherford,					
1362 College Street		91.66	12	1100.00	
Bertie Louise Redd, R. N.	Instructor in Health and in charge of	Market State			
West Hall	the Student Clinic	125.00	12	1500.00	
Florence Ragland, A. B.					
State Street	Teacher of English in Training School	160.00	5글	880,00	Feb. to July
A. M. Stickles, Ph. D.		72-00-00 PARK	2000	CONTRACTOR STATES	
Nashville Pike	Head, History Department	375.00	12	4500.00	
L. T. Smith, M. A.					
Nashville Pike	Head, Industrial Arts Department	266.66	5 2	1466.63	
		275.00	4	1100.00	
Franz J. Strahm,		(427272N K532	2/0		
1349 College Street	Dir. of School of Music and Instructor	308.33	12	3700.00	
	of Applied Music				
M. E. Schell, M. A.			20		
Normal Blvd.	Teacher of Mathematics	288.88	12	3466.66	
Bert R. Smith, M. A.				1100 00	
Normal Blvd.	Teacher of Educational Administration	283.33	4	1133.32	Sept. to Jan.
Elizabeth Strayhorn, M.		000 00	20	0400 00	
College Heights	Teacher of Mathematics	200.00	. 12	2400.00	
E. F. Sporing, M. A.				03 00	
1349 College Street	Teacher of Education	266.66	8	2133.28	
		275.00	4	1100.00	
H. L. Stephens, M. S. Ph		0.50 00		EE0 00	7 11 0 m
Normal Blvd.	Teacher of Biology	250.00	3	750.00	Both Sum. Terms
		258.33	4	1033.32	Sept. to Jan.
Frank M. Semans, M. A.					
Normal Blvd.	Teacher of Biology	200.00	8	1600.00	
		208.33	4	833.32	
		Acres Salada			

NAME AND ADDRESS	DUTIES PERFORMED	MON THLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS
Emma Ctath M A E		DALMAL	THE TACK THE	DADAKI	
Emma Stith, M. A. 431-13th Street	Teacher of English	190.47	12	2285.70	
Sibyl Stonecipher, M. A.		100 00	70	0000 00	
Nashville Pike Florence Schneider,	Teacher of Latin	183.33	12	2200.00	
1260 Kentucky Street	Bursar	208.33	12	2500.00	
Magnolia Scoville, M. A.	Darisar	20000		200000	
1347 Kentucky Street	Teacher of Sixth Grade - Training Sch.	222.22	9	2000.00	
Roy H. Seward, B. S.					
Nashville Pike	Secretary of Student Loan Association	200.00	12	2400.00	
Carrie Strange,		FO 00		400 00	
Louisville Pike	Stenographer	50.00	8	400.00	
		60.00	4	240.00	
Gladys E. Sims, B. M.		190 00	10	2160.00	
1340 W. Chestnut Stree	t Teacher of Voice and Music Theory	180.00	12	2100.00	
Katherine Shutt, A. B.	Manahan and Canada Canada Maninina Cab	60.00	5 1	330.00	
College Heights	Teacher of Second Grade - Training Sch.	100.00	26.42	400.00	
36 - 03403 A B	" Kindergarten - "	100.00	4	400.00	
Mrs. Caroline Seward, A. B	Teacher of Grades - Training School	90.00	1호	135.00	1st Sum. Term
J. H. Sanders, A. B.	leadier of Grades - Training School	30,00	-5	100000	130 Dame Torm
Kentucky Street	Teacher of Mathematics - Nor. Div. Tr.Sc	h-150-00	6 <u>1</u>	975.00	Feb. to Aug.
Katherine Sullivan, A. B.	Tongilal of Branchistan and Branchistan	75.00	82	600.00	1001 00 1006
West Hall	Library Assistant	100.00	4	400.00	Sept. to Jan.
Louis B. Solomon, Ph. D.			7.7		
534 E. Main Street	Teacher of English	166.66	4	666.64	11 11 11
Mrs. Nelle G. Travelstead					
Normal Blvd.	Teacher of Public School Music (Head)	183.33	12	2200.00	
Mary Lee Taylor, M. A.					
Nashville Pike	Teacher of Home Economics	200.00	12	2400.00	
Chas. L. Taylor, M. S.					
Normal Blvd.	Teacher of Agriculture & Farm Supervisor	250.00	8	2000.00	
		258.33	4	1033.32	
Sara Taylor, M. A.		135.00	42	607.50	
422-15th Street	Teacher of Grades - Training School	150.00	4	600.00	
N. O. Taff, Ph. D.					
Sumpter Avenue	Head, Economics and Sociology	308.33	8	2466.64	
		316.66	4	1266.64	
W. L. Terry, A. B.		V miles and a second		The state of the s	
Nashville Pike	Freshman Coach & Inst. in Physical Edu.	180.00	8	1440.00	
Kelly Thompson,					
Nashville Pike	Field Service; Extension and Corres. Dep	t.150.00	12	1800.00	
Mrs. Lillian Thompson,					
1374 Kentucky Street	Stenographer	80.00	12	960.00	

MARCH AND ADDDESS	DUTIES PERFORMED	MONTHLY	No. Mos.	TOTAL	REMARKS
NAME AND ADDRESS	Dires Ferronded	SALARY	EMPLOYED	SALARY	ALADIA ALADA
Ruth Tuck,	Stonewoohen	75.00	12	900.00	
Morgantown Pike Mrs. Bernie Tichenor, A.B.	Stenographer	15600	12	000600	
1366 Center Street	Recorder - Registrar's Office	83.33	12	1000.00	40
Dorothy Thompson, M. S.	Teacher of Home Economics	183.33	8	1466.64	
Nashville Pike E. E. Tartar, M. A.	Texamer of home Edinomics	100.00		740000T	
College Heights	Teacher of Education	183.33	11/2	275.00	1st. Sum. Term
Hoy Taylor, M. A.	Teacher of Education	235.00	41	1057,50	Feb. to June
Orbra Traylor, A. B.	16agner of Education	200100	-2		
College Heights	Teacher of Economics & Sociology	150.00	3	450.00	Both Sum. Terms
Miriam Thornton, A. B. College Heights	Assistant Librarian	100.00	3	300.00	11 11
Mrs. Jennie Upton, A. B.	22072 9001 9 220 2 30				
Cherryton	Teacher of Latin - Training School	65.00	5	325.00	Jan. to June
Lowell Valentine, A. B. College Heights	Teacher of Physical Education	183.33	11/2	275.00	1st Sum. Term
Gordon Wilson, Ph. D.					
Nashville Pike	Head, English Department	316.66	12	3800.00	
Warner M. Willey, M. A. 1346 Chestnut Street	Teacher of Education	233.33	12	2800.00	
Geo. E. Wood, M. A.		000.00	0	2400 00	
J. R. Whitner, M. S.	Head, Geography Department	266.66	9	2400,00	
Normal Blvd.	Teacher of Biology	233.33	5	1166.65	
		241.66	4	966.64	
Ivan Wilson, A. B. Normal Blvd.	(Part-time) Teacher of Art	78.00	5	390.00	
Normal Bryde	10001102 01 220	150.00	4	600.00	
Clifford Westerfield, B.		133.33	8	1066.64	
Mrs. William Wortham, A.	Teacher of Science in Training School	100.00		1000.04	
Nashville Pike		160.00	6월	1040.00	
Mrs. Mary G. Wells, A. B.		151.38	- 6 1	984.00	
1242 Center Street Mrs. Julia K. Weeks, M. A	Teacher of Fifth Grade - " "	202.00	2	001000	
1032 College Street	Teacher of History in Training School	161.90	5	809.50	
Mrs. Margaret Wilson, A.	B. (Training School) Teacher of Instrumental Music & Orchestra	70.00	6	420.00	
Kentucky Street William Weeber,	TORONOL OF THE OLUMON ONE BEENE A OLONO AL				
College Heights	Teacher of Physical Education	70.00	4	280.00	
Elizabeth Woods, A. B. 1319 State Street	Teacher of Modern Languages	150.00	12	1800.00	
TOTO DOGGO DOLGOO					

	NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS	
	Wm. J. Wigginton, M. A.						
	College Heights Clara Wright, A. B.	Teacher of History in Training School	183.33	녆	275.00	1st Sum.	Term
	423-13th Street H. M. Yarbrough, Ph. D.	Admissions - Registrar's Office	133.33	12	1600.00		
	1224 Laurel Avenue	Head, Mathematics Department	316.66	12	3800.00		
	W. B. Youmans,	Laboratory Assistant in Zoology					
	Nashville Pike	Teacher-of-Ecology	92.68 45.00	8 3½	741.50 157.50		
	Charlene Yates, A. B.			25			
	1119 State Street Sylvia Bailey, (Colored)	Librarian - Training School	158.33	12	1900.00		
	W. Main Street	Janitress	45.00	12	540.00		
	W. J. Board,		70.00	10	700.00		
	Nashville Pike	Farm Manager	70.00	10	700.00		
	Gene Connors, 15 W. 12th Street	Janitor	65.00	12	780.00		
	Luther Cornwell,	3					
	High Street	Asst. Mechanical Engineer	75.00	12	900.00		
	Cherry Edson (Colored)	Janitress	40.00	12	480.00		
	B. G. Route 5. Corinne Edwards, (Col.)	Jani Cress	10.00		20000		
	B. G., Route 5.	Janitress	40.00	12	480.00		
	Cora Edson, (Col.)		40.00	12	480.00		
	B. G. Route 5.		40.00	16	400.00		
	Daisy Garnett (Col.) West Main Street		40.00	12	480.00		
	Chester Harrison,		200.00				
	Nashville Pike	In Charge of Farm Dairy	80.00	12	960.00		
	J. Porter Hines, 1337 Park Street	Mechanical Engineer; In charge of the Heating, Lighting and Plumbing	191.66	12	2300.00		
	Grider Hall,	nowang, magnetic	* 10				
	Forest Park	Janitor	70.00	12	840.00		
	Aubrey Hoofnail,		07 77	12	1000.00		
	Forest Park	Night Watchman	83.33	16	1000,000		
	Raymond Hoofnail, Park Street	Truck Driver	75.00	12	900.00		
9	W. E. McPherson,		With River				
	Adams Street	Janitor	65.00	12	780.00		
	Joe McCartey, Russellville Pike	Campus Gardener	80.00	12	960.00		
	Ed McGinnis,	Oambria Ger Gouer	03900				
	Magnolia Street	Fireman - Heating Plant	77.50	12	930.00		
	S. J. Meredith,						
	Adams Street	Maintenance Foreman	125.00	12	1500.00		

NAME AND ADDRESS	DUTIES PERFORMED	MONTHLY SALARY	NO. MOS. EMPKOYED	TOTAL	REMARKS
J. W. Newton,					
Indianola Street	Janitor	65.00	12	780.00	
Vernon Owen,		7 - 2.2.5		A DESCRIPTION	
Forest Park		65.00	12	780.00	
Pleas Peay,					
Forest Park	Fireman - Heating Plant	77.50	12	930.00	
Alex Sadler,	4 = 2 = 3 = 3 = 3 = 3 = 3 = 3 = 3 = 3 = 3	71 30E05			
Cemetery Pike	Farm Laborer	50.00	12	600.00	
Gene Sanson,				2012/2012/2014/2014	
Nashville Pike	u u	55.00	12	660.00	
Emmett Taylor		18			
Russellville Pike	In charge Poultry Plant	100.00	12	1200.00	
Matilda Taylor (Col.)	0				
B. G. Route + 5.	Janitress	40.00	12	480.00	
Emmett Walton,					
High Street	Fireman at Heating Plant	90.00	12	1080.00	
R. C. Woodward,	***************************************				
West Hall	Supt. of Grounds and Landscape Gardener	141.66	12	1700.00	
Helen C. Gwin, M. A.					
J. Whit Potter Hall	Dietition	200.00	12	2400.00	
Susie W. McClanahan,					
West Hall	Director of Girls Dormitory	140.00	12	1680.00	
Mrs. D. T. Penick,					
J. Whit Potter Hall	n n n	130.00	12	1560.00	
Betty Sadler, (Col.)					
Russellville Pike	Jani tress	40.00	12	480.00	
Bettie Foster,					
Russellville Pike	II .	40.00	12	480.00	
Ophia Brown, A. M.					
1302 Chestmut St.	Teacher of English & Grading Extension	165.00	12	1980.00	
Goldia Bowlus, M. A.					
College Heights	Extension and Correspondence Work	150.00	6	900.00	
Tryphena Howard, M. A.					
1358 College Street	Teacher of Mathematics & Education	150.00	8	1200.00	
Lillian Hanley,					
Broadway,	Secretary of Extension	125.00	. 12	1500.00	
Mrs. Virginia Kight					
Nashville Pike	Stenographer	65.00	12	780.00	
H. A. Kersting,					
13th Street	Supv. of Construction of Buildings	117.00	11	1287.00	
Frank Lawrence,					
College Heights	Teacher of Physical Education - Tr. Sch.	45.00	4	180.00	(Part-time)
	Tro Dolle	20000	*	100,000	(raru-time)

NAME AND ADDRESS	DUTIES 1	PERFORMED			MONTHLY N	O. MOS MPLOYED	TOTAL SALARY	REMARKS
Wm. T. Buckles,								
College Heights	Student	Zoology Lab	oratory	Assistant	33.75	4	135.00	
Fern Cox,	68	13	tt	11	15.00	6	75.00	
College Heights					19.00	5	75.00	
Gertrude Raymond, Nashville Pike	18	Botany	11	V	15.00	10	150.00	
B. C. Cole,			2					
College Heights	15	tr .	88	11	23.45	7	164.20	
R. L. Graff,		Angun Milanda	4	i	00.00		99 50	
College Heights	**	Health & Sa	nitation	1	20.62	4	82.50	
Chas. Holt,	ii ii	Biology Lab	oretory	û	15.00	6	90.00	
College Heights Ralph King		Droroga	orwoory					
Russellville Pike	ii	Botany	15	18	17.68	4	70.75	
Dillard Moore,	î			18			3 = 00	
College Heights		Biology	19	11, 15, 10, 11	15.00	1	15.00	
James Nance,	î	Con Amy	18	if .	14.00	4월	63.00	
College Heights Wm. T. Owsley,		Gen. Agr.			14.00	-2		
College Heights	î	Biology	n	18	15.03	3	45.10	
Sheppard Walker,	à			i i				
College Heights	18	Botany	15	ii .	15.00	7 1	112.50	
Lawrence Duncan	ii		î	ii	20.00	6	120.00	
College Heights	3	Zoology			20.00	0	120.00	
T. C. Clay, College Heights	it	o T	n	11	15.00	3 <u>1</u>	52.50	
Carl Stinson,						2.7		
College Heights	11	Botany	11	11	15.00	31/2	52.50	
Jno. L. Peters,			û	18	70.00	71	705 00	
College Heights		Bot & Zool.			30.00	3늘	105.00	
James K. Witt, College Heights	ii	Chemistry	18	û	24.00	9	216.00	
Virgil King,		32132233	-					
College Heights	11	11	18	tt .	21.18	8	169.50	
Erline Reid,	17	â		11	00 03		828 50	
College Heights	**				29.81	8	238.50	
Jas. E. Walker,	11	î	î	i i	24.00	3 1	84.00	
College Heights Cecil Preston,			1 2			-2		
College Heights	n	#	ii	11	24.00	32	84.00	
Marvin Cole,		A TOP A CALL		î	The Mark of the		00-0-	
College Heights		Geography	Ħ	100	25.87	8	207.00 -	
Ruadelle Van Norte,	18	11	18	ń	12.00	10	120.00	
College Heights					TH 600	10	TEO.00	

Page 15.

	NAME AND ADDRESS Wilie Chapman,	DUTIES I	ERFORMED				MONTHLY SALARY	NO. MOS. EMPLOYED	TOTAL	REMARKS
	College Heights	Student	Geography	Laborat	ory Assist	ant	9.00	5	45.00	
	Walter Nalbach,		2 - 8 - 5 - 3						20.00	
	College Heights	15	Asst. Ind	ustrial	Arts Dept.		21.42	7	150.00	
	D. R. Brashear,									
	College Heights	11	Physics L	aborator	y Assistan	it	43.80	5	219.00	
	P. L. Sanderfur,	î.								
	College Heights		"	a	18		35.06	8	280.50	
	Lindsay Jones,	û	11	11						
d	College Heights						43.20	5	216.00	
	Rondle Wright,	**	ũ.	î	if		15 00	72.	F0 F0	
	College Heights Morris Chapman,						15.00	32	52.50	
	College Heights	**		18	18		15.00	31/2	52.50	
	Thos. Nixon Carter,	Special	Lecturer				20.00	02	200.00	11.5
	Thos. Harrison Reed	11	11	100					200.00	
	Jnc. M. VanderMeulen	11	II .						125.00	
	Geo. Willard Frasier	"	11						250.00	
	A. L. Crabb		"						75.00	
	Jno. Young Brown	0.1	, "				69.00	12	35.00	
	Nathalie Baldy15th St.,							76	828.00	
	Student Janitors	Cleaning	; Building	s, walks	, etc. at		per hr.		2376.37	
	Student Library Assts.		-	2012 1102		25¢	19 to		4411.01	
	Students used for playing								134.71	
			English	Papers	at	35¢	2		579.12	
	Student Clerical Assistan	ts				25¢	" "		1908.65	
	Students assisting in fin	ding suit	able boar	ding home	es for		3 3			
	students and in carryin	g notices	from off	ices to	students	201	12 17		450.00	
	and faculty	1.0000.2			10	200	17 15		548.88	
	Student Switchboard Opera	tors			n74 nn nt-				290.07	
	Students in charge of R.	Oo To Co	equipment	and sup	DITAR' GEC	20			20001	

INFORMATION

AUTHORITY FOR ENGAGING EMPLOYEES-- Under Section 4535-9, Carroll's Kentucky Statutes, the Board of Regents of the Western Kentucky State Teachers College is empowered to engage all employees of the institution, to fix their salaries and terms of service. The Board of Regents, by resolution, has instructed the President of the Western Teacher College to nominate all employees of the institution and to assign their duties and supervise their work. All persons now engaged by the Western Kentucky State Teachers College have been employed according to the provisions stated above.

ADMINISTRATORS -- All administrators spend from eight to twelve hours a day in their offices or on the campus performing their regular administrative duties.

INSTRUCTORS -- All members of the teaching staff spend a minimum of six hours per day or thirty hours per week on the campus. This includes classroom instruction, work as student advisers, committee assignments, extra curricula responsibilities, academic investigations and faculty conferences. This does not include making lesson plans, special preparation for classroom teaching and numerous other school duties which are performed in addition to the above while not on the campus. Many spend from six to twelve hours on the campus daily.

CLERICAL SERVICE -- All members of the clerical staff are engaged in their regular duties eight hours per day or forty-four hours per week.

JANITORIAL SERVICE -- All janitors and laborers spend a minimum of nine hours per day or fifty-four hours per week performing their regular duties.

The expense accounts of teachers and employees of Western Kentucky Teachers College as listed on the following pages are incurred in regular authorized travel in the interest of educational development in the Commonwealth and in the discharge of regular administrative duties pertaining to the work of the institution. While the resolution does not request a statement as to the purpose of the travel, the purpose of each trip has been shown in order that a full interpretation of the expense account may be made.

A virile, growing institution cannot confine its activities to classroom and campus alone. It is not enough to train teachers in academic and professional subjects. These teachers must be followed to their field of activity and their teaching observed in order that those who train teachers may be qualified to judge the success or failure of certain procedures followed in the past. An educational institution must also be a leader of the educational thought of the territory in which it resides. This can be accomplished only thru frequent visitation of teachers and employees of the institution to the communities of the Commonwealth for the purpose of conducting rallies, holding educational conferences and assisting in educational campaigns. It will be noted from the description of items of travel given below that the expense incurred has been for the purpose of assisting the public schools of the Commonwealth in their efforts to develop higher standards of efficiency.

Numerous conferences with County Superintendents and other educational leaders have been conducted. Numerous rural school surveys have been made at the request of county superintendents. Practically all of the travel listed below has been made at the request of superintendents, school administrators and teachers in the parts of the Commonwealth served by this institution.

It is the opinion of the administrative authorities of Western Kentucky Teachers College that should the institution fail to allow travel of the nature shown above it would not only fail in its efforts as a leader of educational thought in Kentucky, but it would seriously hamper the development of new and modified curricula which enable it to alter teaching procedure and content in instruction to meet the change in needs of the teachers of the Commonwealth.

It will be noted that under the expense accounts of E. A. Diddle and Will B. Hill certain items are starred. These starred items represent students solicitation and other activities of an educational nature. These items are also reported in response to House Resolution calling for expense accounts incurred in the solicitation of students. Should the two reports be compared it will be noted that the starred items are duplicated in the two reports for the reason stated.

Itemized statements of each expense account given below are on file in the office of the Auditor of Public Accounts.

EXPENSE ACCOUNTS OF EMPLOYEES OF THE WESTERN KENTUCKY TEACHERS COLLEGE - JANUARY 1, 1931 to JANUARY 1, 1932.

NAME		DATE	PURPOSE	GEN. ACCI AMOUNT	
France	s Anderson	November 5, 1931	District Teachers Meeting	14.75	AMOUNT
		10,011001	Covington, Ky.	7.4.10	
Havwar	d Brown	April 11, 1931	Conference on Vocational Edu.		**************
		William Property of the Park	Lexington, Ky.	29.95	
11		Sept. 16, 1931	Educational Conference,	50.00	
17 3		30000 20, 2002	Lexington, Ky.	22.15	
A. C.	Burton	May 7, 1931	Lyon Co. Trustees Meeting	11.46	
11 11	11	July 23, 1931	Teachers Meeting, Munfordville	11.10	
		0423 200	and Glasgow		1.50
11 11	11	July 23, 1931	Teachers Meeting, Elizabethtown		4.75
11 11	11	Aug. 8, 1931	County Teachers Meeting	12-9	2.0
			Brandenburg, Ky.	5,40	
11 11	11	April 30, 1931	State P.T.A. Meeting	0,10	
			Paducah, Ky.	12,35	
17 17	n	Sept. 3, 1931	Securing Data from State	10,00	
	- 5 A S	2020. 0, 2002	Department of Education	16,65	
11 11	11	Sept. 17, 1931	Teachers Meeting, Campbell Co.	20,00	17,09
11 11	11	Dec. 12, 1931	Supt.Conference, Frankfort		8.00
11 11	11	Nov. 16, 1931	County Teachers Meeting,		The state of the s
			Campbellsville & Springfield	12.34	
H. H.	Cherry	May 17, 1931	To Meet the Architect and		
			see some committees concern-	100	
		The state of the s	ing the building program	12.34	
11 11	11	June 20, 1931	State Educational Council		
			at Morehead	23.40	
n u	tt	August 27, 1931	Executive duties pertaining		
			to financial budget and	W. 5 ** **	
		Market St. Comments	general building program	34.79	
11 11	11	June 10, 1931	Building Program and Execu-	A STATE OF S	
			tive work	15.09	
Ethel	Clark	Sept. 15, 1931	Demonstration Teaching		Webster, Henderson, Marion
11	t1	Dec. 14, 1931	Teachers Meeting-Taylorsville	3,90	and Breckinridge Counties
11	11	Feb. 13, 1931	" " Dixon	9,84	
W. F.	Coleman	Feb. 24, 1931	Gasoline for trip to collect		and the state of t
1 1-	- 4 AVE		books for Library	1.20	
E. H.	Canon	Dec. 7, 1931	First Dist.Educ. Meeting	12.07	
11 11	п	Feb. 22, 1931	Delegate to Convention Am.		
		CONTRACTOR THEORY IN NAMES WITH	Asso. of Teach. Colleges-Detroit	61.45	

			GEN.ACCT.	EXTENSION ACCT
NAME	DATE	PURPOSE	AMOUNT	AMOUNT
E. H. Canon	May 27, 1931	Meeting of High School Accrediting		
		Committee - Lexington	17.08	
	Sept. 7,	Shelby County Meeting of Teachers	11.39	
11 11 17	Nov. 28, "	First District Edu. Assn., Murray	11.80	
11 11 11	Oct. 30, "	Registrar's Meeting - Lexington	16.60	
11 11	Jan. 9, "	Meeting of Accrediting Committee	19.30	
Lotta Day	Jan. 16, 1931	Educational Meeting - Lexington	13.00	
II II	Jan. 8, "	" Cov. & Lex.	75.61	
E. A. Diddle	Dec. 5, 1931	Banquet & Educational Conference	3.98	
11 11 11	11 8, 11	11 11 11	7.24	
10 10 10	June 21, "	Field Work Solicitation	43.39*	
11 11 11	July 24, "	11 11	42.35*	
11 11 11.	Aug. 8, "	11 11	38.05*	
11 11 11	Sept. 5, "	ii ii	38.96*	
W. J. Edens	Sept. 15, 1931	Vocational Education Conference	5.60	
M. C. Ford	March 5, 1931	Educational Conference - Frankfort	16.30	
is is is	the the the	" - Louisville	15.65	
0 11 11	Feb. 7, "	Farmers Week - Lexington	22.25	
11 11 11	March 26,	High School Meeting - Whitesville	10.00	
11 11 11	The state of the s	Educational Conference - Louisville	9.35	
" " "	Dec. 7, "	" - Owensboro	8.00	
11 11 11	Nov. 10, "	" - Louisville		
11 11 11	April 20,		14.00 17.00	
" " "	Oct. 5, "			
	Sept. 11, "	Educational Conference - Lexington	18.15	
F. C. Grise	Jan. 20,	Meeting of Asso. of Ky. Colleges, Lex.	16.51	
	Nov. 11, "	* Executive Committee Ky.Col.		
11 11 11		and Universities - Lexington	14.70	
	July 2, "	Meeting of Executive Councils	19.80	
Will B. Hill	Oct. 21, 1931	Regarding Western's Anniversary Progra		
	Nov. 2,		10.28	
11 11 11	Sept. 12,	Edu . Conference, Placement & Solicitation		
	7, "		29.40*	
" " "	Aug. 30, "		al.47*	
11 11	1 23, "	u u u u	15.65*	
J. C. Howard	Mar. 23, "	Educational Conference - Springfield	6.04	
11 11	July 22, "	Organize Study center - Springfield		11.93
11 11 11	April 11, "	Extension Work - Morganfield		8.08
L. P. Jones	July 3,	Teachers Meeting - Elkton	Composition and the second	-5.50
11 11 11	July 10, "	" - Tompkinsville		8.50
11 11 11	July 17, "	Morgantown		6.00
Mrs. M. A. Leiper	Oct. 25, "	Soliciting for Tiberen	7 70	
11 11 11 11	Sept. 30, "	Soliciting for Library Princeton	7.30 3.03	
11 11 11 11	Aug. 8, "	" " Hopkinsville	1.50	
11 11 W N	004. 27, "	" Russellville	6.20	
1 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3	10.6	TWODOTTAILE	0.20	

AME	DATE	PURPOSE	GEN.ACCT.	EXTENSION ACCT. AMOUNT
rs. M. A. Leiper	August 25,1931	Soliciting for Library	8.95	CONTRACTOR OF LA
11 11 11	Dec. 31, "	" " Brandenburg	1.70	to the state of the state of
11 11 11 11	" 2, "	" " - Louisville	5.93	
11 11 11	Nov. 14, "	i i i	7.56	
	11 24, 11	" " - Louisville	10.23	
. A. Loudermilk	July 8, 1931	Teachers Meeting - Metcalfe County		8.90
11 11	Oct. 7, "	State Fair to Assist Vocational Studen	ts 3.80	
. L. Matthews	Mar. 13, 1931	Educational Conferences	42.05	
11 11	" 27, "	11 11	46.62	
11 11	" 28, "	" "	4.70	
11 11	Sept. 4, "	Teachers Meeting - Oldham County	25.40	
11 11	June 29, "	" - Eddyville	16.45	
" "	June 25, "	Educational Conference	18.80	
10 11	July 27, "	Teach. Meeting - Livingston & Critt.Co	s.	33.45
11 11	July 13, "	" - Nelson County		11.40
n n	Aug. 29, "	" - McLean County		11.20
. A. McMurtry	July 3, 1931	Teachers Meeting - Hodgenville		7.00
11 11	July 20, "	" " _ "		3.86
11 11	Aug. 29, "	Educational Conference	18.40	
nest R. Miller	Oct. 31, 1931	White House Conference - Lexington	15.65	
attie McLean	March 20, 1931	To Proof-read College Heights	12.88	
Lliott Orr	March 14, 1931	Pub. Conference - Morgantown	3.35	
abie Robertson	March 14, 1931	Soliciting for Library-Glasgow	2.69	
11 11	Oct. 8, "	11 11 11 11	1.50	
	Aug. 24, "	" " Greenville	3.42	
ert R. Smith	Nov. 13, 1931	Teachers Meeting - Crittenden County		15.25
T. Smith	Jan. 22, 1931	Called meeting of State College repres		
		tatives concerning admission of Murray		
		to 1931 tournament	13.49	
ert R. Smith	Dec. 11, 1931	Conference Division of K.E.A.	3.50	
11 11 11	" 18, 1931	Attending Dedication of Fairdale Schoo	1_11.00	
M. Stickles	Oct. 25, 1931	Representing College at Alumni Meeting	15.00	
" "	Sept. 28, "	Dedicating of High School & Grade Bldg		
		at Magnolia	2.25	
11 11	Nov. 2, "	Educational Conference - State Univ.	17.00	
11 11	" 23, "	Installing work on marking State		
		Historical sites	8.75	
11 11	June 10, "	Meeting of Ky.Progress Commission	13.33	
ii ii	March 26, "	Educational Conference	9825	
illiam Stone	April 1, 1931	Trip to organize bands for Pageant	3.15	
lorence Schneider	Oct. 7, 1931	Com. to Louisville to consult Architec	t	
		regarding contracts for President'sHom	00 45	

	- A mys	TYPECT	GEN ACCT.	EXTENSION ACCT.
NAME	DATE	PURPOSE	AMOUNT	AMOUNT
Nelle G. Travelstead	Aug. 22, 1931	Music Extension Work-Rural Schools	23.83	
11 11 11	1, "	" " " " "	40.42	
	" 2, "		18.10	
N. O. Taff	Sept. 29, 1931	Teachers Meeting - McLean County	2.30	
J. R. Whitmer	Sept. 23, 1931	Assisting at Junior Fat Stock Show	12.60	
Gordon Wilson	Feb. 21, 1931	Meeting of Henderson Co. Hist. Society	3.10	
W. J. Craig	July 9, 1931	To Speak at Teachers Meeting-Greenvill		
" " "	Oct. 27, "	District Teachers Meeting - Brandenbur		
4 4 4	Sept. 7, "	State Course of Study, Dixon, Henderson		
	2	Wickliffe	26.20	
a a a	Sept. 7, "	Group Meeting of County Teachers -		
	2	Hopkinsville and Elkton	8.15	
11 11 11	Mar. 27, "	Follow-up work on Teachers & seeing Su	pt22.25	
11 11	Jan. 28, "	Interviewing Supts. about teachers		
		placed at Marion and recommending		
		teachers for future positions	14.81	
17 11 11	Feb. 28, "	Lectured at Teachers Meeting	5.25	
11 11 11	Mar. 16, "	Follow-up work on teachers placed,		
		made educational address at Wickliffe		
-		and Barlow, and interviewed superin-		
		tendents about future placement of		A CONTRACTOR OF THE PARTY OF TH
		teachers	30.70	
17 17 18	Aug. 8, "	Teachers Meeting - Madisonville	6.15	
11 11 11	July 21, "	" - Columbia	13.70	
11 11 11	Apr. 20, "	Ky. Education Asso. Meeting-Louisville	28.40	
" "	Dec. 21, "	Teachers Meeting - Dixon	3.25	
19 17 15	Feb. 23, "	Meeting of Deans of Men and Personnel		
		Directors of the Colleges of Ky.	20.66	
			135.66	\$162.41
A. C. Burton	July 23, 1931	Trip to Washington and Lebanon		
		Teachers Meeting	4.15	
M. C. Ford	Sept. 25, 1931	Trip to Murray and return Edu.		
		conference	16.00	
		\$1.	755.81	\$162.41

Travel incurred by extension representatives is for the purpose of promoting extension and correspondence study and student placement. Expense incurred for this travel is paid from receipts of fees of persons taking extension and correspondence study courses. The expense accounts listed below are not paid from funds derived from state appropriations.

Your attention is respectfully called to the fact that the success of extension and correspondence work rests upon travel necessary to establish contacts with individuals and groups desiring extension and correspondence study. The practice pursued by the institution in this respect is in accord with that of all other institutions offering courses by extension and correspondence study. The income derived from the sale of extension and correspondence courses is sufficient to cover all salaries and expenses incurred by this division of the college. The Extension Department is now and has been in the past self-sustaining.

Name	Date	Purpose General Account	et. Extension Acct. Amount
W. M. Pearce	Jan. 19-22, 1931	Ed. Conference Louisville	18.45
	*	Extension work Hopkinsville	
W. M. Pearce	Feb. 12, "	Extension work Hopkins and	
		Christian Counties	17.00
W. M. Pearce	Apr. 1, "	Extension work Simpson County	
		Rural School Supervision work-Fern Creek	17.00
W. M. Pearce	May 15-23,	Rural School Supervision work-Logan Co.	
W. S.		Extension work Jefferson Co.	10.60
W. M. Pearce	June 23-July		
	4th 1931	Extension work & Teachers Meetings	
		Jefferson County & Barren County	20.50
W. M. Pearce	July 20, "	Extension work, Grayson County	14.50
W. M. Pearce	Aug. 7, "	Extension work, Butler & Larue Counties	13.60
W. M. Pearce	Aug. 19, "	High School Conference Henderson County	
		Teachers Meeting & Extension Work	36.75
W. M. Pearce	Sept. 11,	Edu.Conference Dawson Springs	
		Teachers Meeting Owensboro, Hopkinsville	
		Hawesville	35.55
W. M. Pearce	Sept. 23, "	Jefferson County Teachers Meeting	48.00
W. M. Pearce	Oct. 13-23, "	Extension work. Second Conference Edu.	
		Meeting at Madisonville	61.40
W. M. Pearce	Nov. 4,	Extension and Rural School work in	
		Hart, Hancock, McLean, Edmonson, Logan,	
		Barren and Warren	55.60
		Ass. West House Har House St. 1915	

Name	Date	Purpose General Account Amount	Amount
W. M. Pearce	Nov.10-20, 1931	Extension work Leitchfield,	
		Munfordville, Hodgenville,	
		Morgantown and Owensboro, Glasgow	58.55
W. M. Pearce	Nov.23-Dec 7, 31	Extension work, Rural School Superv.	
		in Hardin County	55.25
W. M. Pearce	Dec. 18, 1931	Educational Conference, Lexington,	
		Supt. Conference Frankfort	52.80
Kelly Thompson	Jan. 8, 1931	Rural School, High School, Extension, Union Co.	37 • 43*
Kelly Thompson	Jan. 15,1931	Rural School, and Correspondence Hopkins & Cald.	34.18*
Kelly Thompson	1 30,1931	Correspondence and Rural School	39.58*
Kelly Thompson	Mar. 14,1931	Rural School and Extension work	
110-1-3 11.0-1-1-1-1		Caldwell County	36.10
Kelly Thompson	Mar. 21,1931	Extension and High Schools	
		Jefferson, Shelby, Marion	29.75
Kelly Thompson	Mar. 29,1931	Placement, Positions, Extension	
riozzy zmonepode		Jefferson County	27.20
Kelly Thompson	Apr. 5, "	Correspondence and Placement	
HOLLY LITTING BOLL		Daviess County	21.22
Kelly Thompson	Apr. 11, "	Correspondence, and Placement work	28.17
Kelly Thompson	Apr. 18, "		
nozzy znompeon		Washington County	24.90
Kelly Thompson	Apr. 25, "	Correspondence and Placement work in	
Merry Inompross		Larue and Hardin counties	21.08
Kelly Thompson	May 3,	Correspondence and Placement work	
Merry Inompron	may of	Caldwell	35.13
Kelly Thompson	May 9,	Correspondence and Placement work	
Werra Thomback	may -	Hopkins and Logan	22.67
Kelly Thompson	Jan. 24, "	Correspondence and Rural Schools	27.75*
Kelly Thompson	May 11,	Correspondence and Placement work Marion Co.	38.85
Kelly Thompson	May 23, "	Correspondence and Placement work	12.89
Kelly Thompson	June 13,	Extension and Correspondence Placement work	v in the second of the
Werra Thombron	0440 203	Marion and Barren	26.81
Kelly Thompson	June 20,	Correspondence, Extension, and Placement work	
Werra Thombaon	Juno 203	Hopkins and Caldwell	40.28
Kelly Thompson	June 28,	Correspondence, Extension, and Placement work	
Werry THombson	ouno nos	Hopkins and Caldwell	33.79
	2	Trobustra otto overtions	

Name	Date	Purpose General Acct. Amount	Extension Acct. Amount
Kelly Thompson	July 5, 1931	Correspondence and visiting students	
		and extension Larue and Hardin	25.75*
Kelly Thompson	July 12, "	Correspondence and visiting students	
		Hardin and Barren	24.80*
Kelly Thompson	July 18, "	Extension and Visiting High Schools	
		Hopkins and Caldwell	29.59*
Kelly Thompson	July 25, "	Extension, Visiting students and Teachers	
		Meetings Caldwell and Trigg	27.20*
Kelly Thompson	Aug. 1, "	Correspondence Study Centers Jefferson Co.	31.34*
Kelly Thompson	Aug. 8, "	Extension, Study Centers, Teachers Meetings	
	The state of the s	Hopkins County	24.17*
Kelly Thompson	Aug. 15, "	Extension, Study Centers, Teachers Meetings	
		Daviess County	27.80*
Kelly Thompson	Aug. 22, "	Extension work and Teachers Meetings	
		Henderson County	33.53*
Kelly Thompson	Aug. 29, "	Extension work and Study Centers, Daviess County	29.50*
Kelly Thompson	Sept. 5,	Extension and Teachers Meetings, Marion County	26.38*
Kelly Thompson	Sept.12, "	Extension and Teachers Meetings, Spencer County	25.89*
Kelly Thompson	Sept.19, "	Extension and High School Work, Hardin County	19.14*
Kelly Thompson	Oct. 1, "	" " " Marion	17.36*
Kelly Thompson	Oct. 10, "	Study Center and Correspondence Work, Hardin	
		and Shelby County	28.77*
Kelly Thompson	Oct. 17, "	Extension and High School Work, Shelby and	
		Spencer Counties	25.52*
Kelly Thompson	Oct. 24, "	Extension and High School Work, Hardin Co.	11.28*
Kelly Thompson	Oct. 31, "	" " " Jefferson Co.	12.05*
Kelly Thompson	Nov. 7, "	" " Hardin Co.	16.60*
Kelly Thompson	Nov. 14, "	" " " Shelby & Hardin Cos.	21.13*
Kelly Thompson	Nov. 21, "	II II II II II Hankins	27.72*
Kelly Thompson	Nov. 28, "	" " Shelby & Handin Cos-	17.72*
Kelly Thompson	Dec. 5, "	" " " " Coldwall	35.16*
Kelly Thompson	Dec. 12, "	" " " " Munlenbarg	28.89*
Kelly Thompson	Dec. 19, "	" " " " Hardin Shelny	18.17*
Kelly Thompson	Dec. 31, "	" " Shelby	15.84

\$1,654.63

All of the expenses incurred by Extension Representatives as shown on preceding pages have been paid from the extension fund and may, therefore, not be charged against state appropriations. As pointed out above the Extension Department is self-sustaining. It should also be noted that certain items of expense occurring under the name of Kelly Thompson are starred. These items represent travel for solicitation and other educational work and are duplicates of items occurring in a separate report in response to the House resolution calling for expense accounts of persons engaged in travel for solicitation. Should these two reports be compared this duplication of accounts should be noted.

GENERAL INFORMATION CONCERNING SALARÍES OF TEACHERS

On the basis of information found on page 35 of the report sent out by the United States Department of Education, and dated December 23, 1930, we have the following salary comparisons:

TRAINING SCHOOL--The median salary for critic teachers in 90 institutions is \$2400.00; in the Western Kentucky State Teachers College the median salary for critic teachers is \$2030.00, \$370 or 19.6 per cent less than in the other schools.

ENTIRE TEACHING STAFF OF COLLEGE AND TRAINING SCHOOL--Including all members of the teaching staff under the heading "Instructors," we find that the median salary in the 48 teacher-training institutions reporting is \$2730.00. In the Western Kentucky State Teachers College the median salary for all teachers, including both Training School and College, is \$2498.00. This is \$232.00 or 8.5 per cent less than the median in the other institutions included in the study made by the United States Department of Education.

NOTE: The salaries in all cases are based on the regular year of 36 weeks plus the two summer schools of six weeks each.

STATE SUPPORT OF TEACHER-TRAINING INSTITUTIONS FOR MAINTENANCE AND BUILDING FOR 1930-31

The following statement was prepared by Dr. Donovan of Eastern Teachers College.

INSTITUTION	ENROLLMENT	FOR MAINTENANCE	FOR BUILDINGS	
Western	2,341	\$525,344.44	\$125,000.00	
Eastern	1,342	353,615.03	125,000.00	
Mirray	1,078	281,350.79	125,000.00	
Morehead TOTAL	807 5,568	281,350.79 \$1,441,661.05	125,000.00	

Per capita cost for Kentucky\$258.92

Per capita cost for the United States..... 270.00

The per capita cost of the Teachers Colleges in Kentucky is \$258.92

The per capita cost of Teachers Colleges in the United States in \$270.00

The percapita cost in Kentucky is \$11.08 less than for the United States.

To help meet the present financial emergency the Teachers Colleges are making no requests for building or other capital expenditures.

THE TEACHERS COLLEGES ARE PRESENT BUDGETS WHICH PROVIDE FOR MAINTENANCE ONLY.

1 See Bulletin 1929, No. 17, Teacher Training, 1926-28, Department of Interior, Bureau of Education.

STATEMENT OF ATTENDANCE OF COLLEGE STUDENTS

Below is given the	attendance by te	rms at Western	Teachers College
for the year ending			to the basis of
36 weeks, the daily	attendance was	2340%.	

First semester	1300		
On the basis of 36 weeks, an average of		650	
Second semester	0000		
On the basis of 36 weeks, an average of		1031	
		2002	
April Term	667		
On the basis of 36 weeks, an average of	• •	166 3	
First summer term	1070		
On the basis of 36 weeks, an average of		329 5/6	
		0,00	
Second summer term	979		
On the basis of 36 weeks, an average of	21	163 1/6	
TOTAL daily attendance on the basis of 36 weeks, average			2340를
The state of the s			20404

Western's Attendance Scholastic Year 1930-31

Number of college students in Teachers College	4,253
Number of students in Training School	457
Number of students in Rural School	38
Number of students in Correspondence Courses	2,249
Number of students in Extension Classes	367
Total number of students instructed	7,364

The institution during the last year actually instructed 7.364 different individuals on its campus and in the Extension and Correspondence courses. Four thousand two hundred and fifty-three of this number were students pursuing college courses.